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Quotient Identities
_ sin(6) _ cos(6)
v tan(0) = c0s(@) wa cot(f) = Sin ) ' 4
Reciprocal Identities
v . gl N
- sin(8) . i cos(8) v w8ip) tan(6)
~ Pythagorean Identities ~
sin?(0) + cos?(0) = 1 1 + cot?(8) = csc?(6) %) tan?(0) + 1 = sec?(6)
@ sin COS @ C( csce( ‘;) 1n Sec
v4 sin?(8) = 1 — cos?(89) 1 = csc?(0) — cot?(9) tan?(8) = sec?(8) — 1
cos?(8) = 1 — sin?(0) cot?(8) = csc?(0) — 1 1 = sec?(0) — tan?(0)
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csCP = 0scd

Quotient Identities
sin(8)
tan(f) = 0s(0) cot(6
Reciprocal Identities
1 _ 1
@ csc(f) = 5in(0) sec(f) = 0s(@)
Pythagorean Identities
sin 0s“(f) =1 1 + cot“(f) = csc*(6) b
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- %\\'\ '9 tan(6) = i’y cot(
l = cos(9)
S| “29 7 1 Reciprocal Idellltities
¥ csc(0) = sin(6) )= cos(0)
Pythagorean Identities
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